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Question Number : 1 Question Id : 3922661601 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The launch vehicle used in Chandrayan-2 1s

S0\ - 2 S* 7835 orod I;8&S

I GSLV MK —-1II - M4
2, GSLV MK —IIT - M1
GSLV MK - IV — M5
4. GSLV MK -V —-Mb6

Options :
1. %1
2.¥2
3.%3
4. % 4

(2

Question Number : 2 Question Id : 3922661602 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘Dasharadhi Shatakam’ was written by
1. Baddena

2. Tikkana

Kanchirla Gopanna

4, Mallikarjuna Panditaradhya
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3. 5038 fﬁ::n:a
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4. ;’aot@j?t’iéﬁ ?.30&@@@56&
Options :
1. %1

2. %2



3.¢3
4. % 4

Question Number : 3 Question Id : 3922661603 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The headquarters of Ammnesty International 1s located in

I New York

2 Brussels
3. [London
4, Tokyo

@3&&% ao@@mg@@h’ So|so I8 ) SKBo
1. Ki}bédi?gzr

2. Lzﬁ}&%

3. Slotets)

4. éSEE'Eé

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 4 Question Id : 3922661604 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



World Population Day 1s celebrated on

1. April 22
2 March 15
3. July 11
4, June 5

(S50 esarer &5’5%50 2D Sew
1. ADS 22

2. SﬁF@J 15

3. =81

4, 28 5

Options :
1. %1
2. %2
3.¢¥3
4. % 4

Question Number : 5 Question Id : 3922661605 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Khajuraho temples were built by

. Holkars
2. Scindias
3. Bundela kings

4, Chandela kings
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Options :
L%
2. %9
3. % 3
4.4

Question Number : 6 Question Id : 3922661606 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose correct answer

i Shehnai a. Zakir Hussain

11. Violin b. Bishmilla Khan

1.  Flute c. Kannakudi Vaidyanathan
1v.  Tabla d. Pannalal Gosh

i DTN a. 285 ?.’mf}n)g
il SBrOS b. é’)?@&&g S
. Jen C. SHHE JEFTES
V.  Saer d. ‘5.353@5 e
1. i-b, 1n-c, 1u-d, 1v-—a
2 i—-¢, 1u-—-b, m-a 1v—-d
3 i—d, 1m-—a, 1ui-b, 1w-c¢
4. i—c¢, 1u-b, u-d, 1v-—a
Options :
1.1
2. %2
3. %3
4. % 4

Question Number : 7 Question Id : 3922661607 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The term ‘Scoop’ relates to the sport

1. Hockey
2 Cricket

3. Golf

4, Wrestling

B 5 o B0 B2 ($ED $02080D58
1. 598
2. |88
3. R
o
4. BRoR

Options :
1.v1
2. %2
3.%3
4. % 4

Question Number : 8 Question Id : 3922661608 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose correct answer regarding book and author

1. Srinathudu a. Paryathapaharanam

11. Bharata b. Ashtadhayi

1.  Panini ¢. Srungara Naishadham
1v.  Nandi Thimmana d. Natya Sastram
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i 8,365 a. BRI E0
11. ALOLI NS b. Eﬂ%‘;(ﬁ"é@i}
. o3 C. %‘JOP&Q&CSD

1v. S08 @3’33&2:5 d. avéné%ﬁ@o

| 1i—-d, un-b, m-a, 1w-c
2 i-c¢, n-d, m-b, 1wv-a
3. 1i—a, 1u—-b, m-c, 1w-d
4. i—=h a4 M- W€
Options :
1. %1
2.2
3.%3
4. % 4

Question Number : 9 Question Id : 3922661609 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The Battle of Plassey occurred in the year
5;;5} ANFo 2BAS DoSBYo

1. 1757

2. 1764

3. 1857

4. 1935

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 10 Question Id : 3922661610 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Regarding computers RAM stands for

1 Reusable application memory
i Read access memory

3 Random access memory

4. Rapid access module
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Options :
1. %1
2. %2

3.¢3
4. % 4



Question Number : 11 Question Id : 3922661611 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer regarding Name and Honorific title

1. Chittaranjan Das a. Lok Naik

11. Jaya Prakash Narayan b. Andhra Ratna

11.  Duggirala Gopala Krishnaiah  ¢.  Andhra Bheeshma
1v. Nyapathi Subba Rao d. Desh Bndhu
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1v. avé‘é.i:@ eNoY) d. T¥0H
1. i—¢, un—-d, wm-b, 1v-—a
2 1—d, m—a, m-b, 1w-c¢
3. 1—d, 1—b mWM—& Wi
4. i—€ H—a m-b 9v-d

Options :

1. %1

2.¥2

3. % 3

4. % 4

Question Number : 12 Question Id : 3922661612 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The Article that relates to constitutional amendment 1s

CI“BS"EDF{ 0% Do20H0WS DDOES

1. 348
2. 358
3 368
4. 378

Options :

1. ¥ 1

2. %)

3.¢¥3

4, % 4

Question Number : 13 Question Id : 3922661613 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Normal blood pressure reading of an adult human
SBrBOS” JEEer BEHGSD0

1 80/120 mm Hg
2. 100/120 mm Hg
4 120/80 mm Hg

4, 140/100 mm Hg

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 14 Question Id : 3922661614 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



For which role, did S.V. Ranga Rao won the Best Actor

prd

Award at the 3" Afro Asian Film Festival held in Jakarta in

1964

l.
2

e
ey £

4.

Suyodhana
Kichaka

Bhima

Hiranyaksha
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2. 5%
3. )50
4. irbdw&gxéo
Options :
1. %1
2.¥2
3. % 3
4. % 4

Question Number : 15 Question Id : 3922661615 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



This person 1s known as ‘The Birdman of India’
12 Abdul Kalam

2 Salman Rushdie
3. Salim Ali
4. Swami Nadhan
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Options :
L%
2. %2
3.¢3
4. % 4

Question Number : 16 Question Id : 3922661616 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The organization that classified costal mangroves in India;
Sr1 Lanka and Maldives as ‘Critically Endangered’ on
31% May 2024 is

B3 D03 go& s, Beos, 579908” Ko 208 ©EHOD
©OSB0NPE (PIrE0S &) & 31 D 2024 3
5%5&0&0&.

L. WWEF
2. UNEP
UNICEF
4. IUCN

L



Options :
1. %1

2. %2
3.%3
4.9 4

Question Number : 17 Question Id : 3922661617 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This IIT released the ‘Geospatial Modeling and Mapping of
Soil Erosion’

1. IIT Mumbai

2. IIT Delhi

3. II'T Kanpur

4, IIT Madras
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2. HT&Q

3. IIT S‘“Ki?gd&

4. T ST

Options :
1. %1
2.2
3.%3
4. % 4

Question Number : 18 Question Id : 3922661618 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The Booker Prize — 2024 award wimning novel ‘Orbital’
written by

L Samantha Harvey
2. Samantha Singh
3. Rachel Kushner

4, Goby Wood
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Options :
1.v1
2. %2
3.%3
4. % 4

Question Number : 19 Question Id : 3922661619 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Who was appointed as president of Indian Chamber of
Commerce on 19™ October 2024

o Sanjay Murthy

2. Vijay Rahat

3. Abhyudai Jindal

4, Jay Sha
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1. Doz 508

2, ez oo

3. @2&356505 200°9

4, 2203 ¢

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 20 Question Id : 3922661620 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Government of India decided to establish Voronezh Radar
Securities System in this state.

1. Andhra Pradesh

2 Karnataka

3. West Bengal

4, Rajasthan

S’E°IE TEEy SEIQ GrUS (PR0E B2 TR0 Aomyew
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1. ot
2.  E@es

3. 3#3J;Jﬁome§

4. OB
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Options :

1. %1

2.9 2

3. %3

4. % 4

Section 2

Section Id : 39226660
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10
Section Marks : 5
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 39226660
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3922661621 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Inclusive education program for children with special needs at
secondary stage was started in this year

BIFON ITYROH SrEDE Food” VIS DSy SHUSITY
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. 2009-10

2. 2008 -09

3. 2007-08

4. 2006 - 07

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 22 Question Id : 3922661622 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
This improves in normal students through inclusive education

1. Leadership qualities, arrogance

2. Inferiority complex

(a2

Cooperation, helping attitude

s

Backwardness i education
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3. DY S0, ?&;UCSJEJGSD
4. SEHHS I5oEeree8s0
Options :
1. %1

2. %2



3.¢3
4. % 4

Question Number : 23 Question Id : 3922661623 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Name the famous movie represents the natural competencies
to be identified by the teacher among children

i Little pingu

2 Taare Jameen Par

%, Black

4. My name 1s Khan
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Options :
1. %1
2.2
3.%3
4. % 4

Question Number : 24 Question Id : 3922661624 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Name the free health insurance scheme provided by national trust
for persons with disabilities

L Arogya Sr1

2. Ayushmanbhava
3 Arogyamithra
4. Niramaya
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Options :
1. %1
2. %2
3.%3
4. v 4

Question Number : 25 Question Id : 3922661625 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Number of seats reserved for Girl children with hearing /
visual impairment at Kasturba Gandhi Balika Vidyalayas
53207) ok O3 ijméenciﬁr@efs #3583 / Sy 670 Ko
250X TEra0NS rsoéacgj

1 23
23 20
3. 15
4. 10

Options :



1. %1
2.¥2
3. %3
4. % 4

Question Number : 26 Question Id : 3922661626 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘School of Psycho Analysis™ founder

1. Socrates
2. Sigmund Freud
3. Rousseau
4. Skinner
‘”’wb_éi_ 35 5 wsrods’ 555‘5"3?.3535113
- &0
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2 2K &DE (Fran&
3. S
4. S &
Options :
1%
2.9
3. %3
4. % 4

Question Number : 27 Question Id : 3922661627 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Upper age for enrollment of students with special needs of
class 10™

. 15 years

2. 16 years
3. 18 years
4, 17 vears

105 STHBS” TEFT0eH (9BE ©IHT00 KO TR
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1. 15 Sossyoren

2. 16 ﬁo&ﬁ%mm

3 18 “éo&ﬁé‘\)mm

4, 17 E@oaﬁ%mm
Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 28 Question Id : 3922661628 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



This 1s not recommended while teaching in inclusive
classroom

1. Teaching should be student centered
2 Providing break time while teaching

Teach Mechanically

(e

.L.

Give freedom to students to solve problems
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Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 29 Question Id : 3922661629 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Personal information of children with special needs to be
gathered from

1. Parents
2 Officers
3. Doctors

4. Siblings
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5008 D08 9.
17 SOGo(Goe
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Options :
1.v¥1
2. %2
3.%3
4. % 4

Question Number : 30 Question Id : 3922661630 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



While assessing programs for the children with special needs
in day to day classroom activities these are to be considered

L, Institutional goals
2. Long term goals
3, Social goals

4. Short term goals
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Options :

1. %1

2. %2

3.%3

4.9 4

Section 3

Section Id : 39226661
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10
Section Marks : 5
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 39226661
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 3922661631 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



A situation 1 which a child exhibits difficulty in coordinating
the movements of lips and tongue m speech production is
called

L. Dysasthia

2. Oral Apraxia

3 Distortion
4. Substitution
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Options :
1. %1
2.2
3.%3
4. % 4

Question Number : 32 Question Id : 3922661632 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



This 1s not considered as a extrovert personality trait

L. Sociability
#4 Expressiveness
3. Achievement Orientation

4. Low Self Esteem

zaiﬁda&sp ;Sé_écéj ofeon 38 HAXA0D208E5
1. 52858
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3. Tgod @3S
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Options :
1. %1
2. %2
3.%3
4. v 4

Question Number : 33 Question Id : 3922661633 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



B.F. Skinner operant conditioning theory is also called as

Cognitive Field theory

2 Instrumental Condition

3. Observational Learning theory

4. Stimulus Response theory without reinforcement
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Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 34 Question Id : 3922661634 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Combiing the known knowledge with the new knowledge is
known as

1. Equilibrium

2 Schema
3. Assimilation
4. Accommodation

JEepards §'E amard)) éﬁﬁoﬁmé’g} QU 0T,
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3. rolstes

4. @Ki}?‘bﬁgeﬁ
Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 35 Question Id : 3922661635 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Match the following

1) Block Design test a) Group Test

11) Picture Completion Test b) Performance Test
111) Bine Simon Test c¢) Non Verbal Test
1v) Ravens Progressive Matrices Test d) Verbal Test

@o&b IR S Yo SRt NG Y

) 2p% &BS 58% a) 5Ty 8%
i) DS Joer D0F b) Jyess 583
iii) &3 DS 8% c) o7y 58
iv) o°3Q) (PR oGBS H8% d) =5 585
1 1-b, u—c, m—d, w-a
> 1-d, m—b, m—c;, w—d
3. 1—-¢, 1—d, m-a, iv-b
4. 16, b, m—u, w—a

Options :

1.¥1

2. %2

3.%3

4, % 4

Question Number : 36 Question Id : 3922661636 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The hearing loss which can be corrected by medicines, surgery
or precautionary measures is called

1 Irreversible Hearing loss

2. Reversible hearing loss

3. Congenital hearing loss

4. Sensory neural hearing loss
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Options :
1. %1
2.¥2

3. %3
4. % 4

Question Number : 37 Question Id : 3922661637 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Using oral — aural method, signs, finger spelling, gestures
facial expressions and lip reading in speech and language
traimning called

il Sign language

. Total communication
2 Total language

4, Total sounds

SRS, (F5e égeﬁam, DL, DO SYSre, PR,
T85eToare, EJ%S D50 EDDTROD aég gk 8563
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Options :
1. %1
2.2
3.%3
4. % 4

Question Number : 38 Question Id : 3922661638 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Arrange the 1mportant components of Individualized
Educational Plan (IEP) in an order

1) Assessment 11) Record keeping
111) Teaching 1v) Re-assessment
v) Prescription

SEKS Doz (2798 (IEP) Swpfds @0aom SHdEmos”
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1) ©oS7300E0 ii) 95°8) SIE

iii) 5°¢5 V) B8R 905 SANE0

V) ODSFKE S-S

1 i, 1, H, VW
2 1, 0, 1. IV, ¥
3 LW, Mo n
4. 1, 1, Vv, 11, 1V

Options :

1%

2. %2

3.¢3

4. % 4

Question Number : 39 Question Id : 3922661639 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Evaluation and documentation techniques in teaching a student
with special needs helps in

L. Preparation of IEP

2. Preparation of Physical activities
3. Preparation of occupational skills
4. Preparation of motor skills
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Options :
1.v1
2. %2
3.%3
4. % 4

Question Number : 40 Question Id : 3922661640 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The detection and diagnosis of impairment at an early age is
referred as

1. Early treatment
2 Early identification
3. Early training

4. Early monitoring
o DY) SEHDE'S MHBoisEo HBA HbFosEY)
JUT @OLT.
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Options :

1. %1

2.¥2

3.%3

4, % 4

Section 4

Section Id : 39226662
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 60
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The delicate curtain like structure in the middle ear front part
1s called

ks Cochlea
2 Ear drum
3. Pmna

4. Ear canal
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First book on educating children with hearing impairment
written by

1. John Pablowbone
2 Hedropansdeleian
3 Valentin Hany

4. Decroli
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First deaf school of India 1 the year 1885 was established at
1. New Delhi1

2 Palayamkota

3. Kolkata

4. Mumbai
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The smallest bone in the human body

L Stapes

2. Incus

3. Malleus

4. External Ear bone
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This teaching strategy is not related to Inclusive Education

1. Small group mstruction
2. Peer tutoring
3. Highly restrictive environment

[ east restrictive environment
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This 1s not useful while teaching children with hearing
impairment

L. Teaching aid

2. Multisensory Approach
3. Snellen Chart

4. Visual exhibitions
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Types of subgroups in hearing impairment based on hearing
ability and language acquisition
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Adult deaf programmes at New York city were started in this
year
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Number of deaf schools in India as per K. Bhattacharya
statistical report 1938 in those days.
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Important board to be placed in an iclusive classroom
1 Black board

4.8 Information board

a: Sign board

4. Green board
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Expand ILFE
ILFE 2380<506.

. Inclusive Learning Friendly Environment

2. Integrated Learning Friendly Environment

-

3 Inclusive Learning Full Environment

4. Integrated Learning Full Environment
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Based on sub-groups Hearing Impairment 1s a

L. Multiple problems

2, Tr1 problem

2

Bi problem
4. Quadruple problem
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Cribogram 1s a

. Stick type mstrument
2 Cradle type instrument
3 Flute type mstrument
4 Chair type mstrument
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Screening procedures NOT related to identify the hearing loss

1. Audiometers
2 Objective measurement tests
3. Audiogram

4. Maddox Rod Test
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The complex stage of normal children acquiring speech and
language development

1. 1 — 4 years
2. 2 — 4 years
3. 3 — 6 years
4. 0 — 6 years
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Game useful for children with hearing impairment

1 Circular Kabaddi

2 Pushing ball with the help of wheel chair
3 Game of Anthyakshari songs

4. Rocket bounce
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Children with hearing impairment, who wears a hearing aid
cets benefited by make use of this

| Knowledge

2, Ability

3 Hearing loss

4. Residual hearing
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This needs 1n enhancing auditory perception of sound

. Speech therapy
2. Speech training
< 4 Auditory traming

Speech teaching
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Important Educational goal of a school for hearing impaired

1 Improve communication skills
2. Provide opportunity to work
3, Improve sports skills

4, Ensure to live with parents
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Special education system 1s also called as

Segregated education system

2 United education system
3. Integrated education system
4, Inclusive education system
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Identify the information 1n the form of language

L. Stopped the car by seeing Red symbol
2 Expressed about woman through dance
3. Say “Tata” with hand movement

4. Letter writing
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Important tool for oral speaking, conversating by listening

L. Visual method
2. Sign language
3. Bilingualism
4. Oralism
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Causes of hearing loss due to birth injuries are called

1. Pre natal causes

2 Peri natal causes

3 Post natal causes

4., Environmental factors
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Sensory neural hearing loss caused by a defect in the

| Cochlea

2. Auditory nerve

3 Tympanic membrane and Auditory nerve
4. Cochlea and Auditory nerve
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Babbling to socialized babbling stage not evolves i children
with this impairment

8 Visual impairment

2, Locomotor impairment
3. Hearing impairment

4. Voice disorders
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This development is not seen in the children with motor
deficits

1. Social development
2. Fine /Gross motor development
3 Vocabulary development
4, Speech development
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Physical characteristic of a sound

i Pitch

2 Loudness
3. Timbre

4. Intensity
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Disorders related to meaningless ‘word juncture’ 1s called

Voice
2 Rhythm
3 Articulatory
4, Motor
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Type of articulatory error by pronouncing “Thar™ instead of
“Truck”

1 Distortion
2 Omuission
3. Substitution

4. Addition

i
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Research on congenital deaf and post lingual deaf people is
done by

1. Kirk

2 Lenneberg

3 Dunn

4. Crickshank
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Teacher needs to follow 1n the class having children with
hearing impairment

L. Talk while walking among students
2 Talk while writing on blackboard
3. Talk to the students by facing each other

4, Talk with students by facing either side
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These are essential for teachers in understanding the
characteristics of children with hearing impairment in
educational rehabilitation

1. Mental - physical
2 Educational

3. Physical - educational
4. Mental - educational
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“Auditory rehabilitation” to be provided to children with
hearing impairment based on

L. Level of impairment, language
2, Level of impairment, Nature of impairment
3. Nature of impairment, language

4. Nature of impairment, level of information
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Children with special needs of special school attend only for
games. drawing etc to the normal school 1s called

].. Partial integration

2 Total integration

3. Peripheral integration

4. Social mtegration
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Match the following

1) Voice a) voice, pronunciation, rhythm

11) Pronunciation  b) Process of sounds continuously

111) Rhythm ¢) Combination of Vowels and consonants
1v) Speech d) High and low, speed, stress
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Major electronic parts of a hearing aid
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This 1s not in the conversation improvement strategies of
“Field and Haggand”

| Social related strategies
2. Physical related strategies
3. Observational strategies

4. Imaginary strategies
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This institution 1s not related to hearing impairment
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Understanding by observing facial expressions and oral
movement 1s called

] Lip reading
2. Speech reading
3 Loud reading

4. Silent reading
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This sign language 1s natural and effective to read the world

i American sign language

2. British sign language

3. Indian sign language

4, Gesture language
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This hearing aid 1s better for the person with profound hearing
loss

1 Spectacle type hearing aid
2. Behind the ear hearing aid
3 Bone anchored hearing aid
4, In the ear hearing aid

©d SIS &30 Ko 83 WSS AT &EDETE0
1. So0é3 VTO DASE aoldo

2. B 3308 50T IV8& adolgo

3. &S aSros§ rahdok dané

4. 3D %o 5803

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 82 Question Id : 3922661682 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



As a part of speech therapy, this will use in speech teaching,
speech training programs

k. Analysis teaching
2. Synthesis teaching
3, Group teaching

4. Remedial teaching
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This organization conducts community based rehabilitation
programmes for control of disabilities in our country.

L. Rehabilitation Council of India
2. Vocational Rehabilitation Center
3 Vocational Traming Center

4. World Health Organization
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To provide appropriate rehabilitation for persons with hearing
impairment. the crucial role plays by

I Teacher

2 Mother

3. Service Organization
4. Father
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One can give support or advise to another in achieve goals is
called

L. Humanity

4. Empathy

% Guidance

4, Sympathy
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This home environment 1s appropriate for children with
hearing impairment

1. Normal home environment
2 Humiliated home environment
3. Over pampered home environment

4. Supportive home environment

(F5ea8%50 Ko PQOH 3 M @500 @DILEIRIO.
i reiledelar) ﬁgﬁéﬁm@;ﬁdmo

2. QTPETEd ﬁg@m@éﬁmo
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Options :
1. %1
2. %2
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As per researches the reason for emotional, social, educational.
professional problems of persons with hearing impairment

1. Attitudes of other persons

2. Attitudes of peer group

Attitudes of parents

4. Attitudes of siblings

DBTETO (H5°50 2RO &TK, JoRE, Iy A,
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Options :
1. %1
2. %2
3.¢3
4. % 4
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These are primary essential to bring all round development of
children with hearing impairment

L. Orientation programmes
2 Service programimes

i Acts

4. Punishments

AV3E §7H0KO DY VDK IS PEILD A ([FEAS
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Options :
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Amplification will be happened 1n this part of the ear.

1 Outer ear
z Middle ear
: Inner ear

4. Cochlea
¥ z:gj‘;’:rbcfbédmo SHEGEEE-S s K0S° BKI0D.

1. Seond 3
2. 36553
3. &%93)
4. ST5go

Options :
1. %1
2.9 2
3.%3
4. % 4
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Question Number : Yes
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Teacher pupil ratio in special schools
(3855 ETS aIryoh - TR NG

B 1:20/40
% 1:20/60
3 1:25%30
4. 1:8/10

Options :

1. %1

2. %2

3.%3

4.4 4



Question Number : 91 Question Id : 3922661691 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This services are not required to the special school for the deaf
1. Audiologist
2 Speech Therapist
: 4 Ophthalmologist
4. Special educator
2OH© @’:5_%55 FEFOE 93350 B DI
8 (#3583 E)E@D HS)Lar blet
2. gPRET DSBS
3. S(e8 gcﬁaéeéa
4. @35:355 Eﬁ“@écﬁjcﬁj
Options :
1. %1
2. %2

3.¢3
4. % 4
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Persons with deaf cannot accepted this easily

L. Subculture

2 Culture of hearing community
3 Gestures

4. Facial expressions

220D B @0l WO SIrOOSBLD.
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2 D3 DT RO )B

3. JORT™eD

4. S0P EI3P5ew

Options :
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3.%3
4. % 4
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To establish this school 1s more expensive

k: General school
2 Inclusive school
% Girls school

4. Special school

B3 >Ere %;:5553 epd:g NES I
1. TS T

2. H3e8 ;BT

3. 280 BT
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Options :
1. %1
2. %2
3.%3
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Question Number : Yes
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Classroom 1s to be like this i special school for children with
hearing impairment

1)  Amplify the sound in room
11) Restrict the sounds from surroundings
11) Restrict the sound in room
1v)  Amplify the sounds from surroundings
IVZEE 50 Ko DY, (3B(S FTTd” SR KB L= IFor
Dozd.
) KOS F#rd) Doteren
(] 2
i) 20508 HBIc°e Fr) &5 80T e
] 2
iii) X889 Ferd) G @oééaé%;j
V) 2dHE 38307 Fr) DOTIEID
o D
1. 1. |
2, 11, 1v
3. 1, 11
4. 1. 1V
Options :
1.¥1
2. %2

3. %3
4. % 4
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Question Number : Yes
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Match the following

1)  World Programme of Action a) 1974
11) Integrated Education for the disabled b) 1983
111) Sarva Shiksha Abhiyan c) 2009
1v) Rashtriyva Madhyamik Shiksha Abhiyan d) 2000
08I @EDTS[D
1) (D0 S“U“ézﬁi’im Iatle a) 1974
1) 35050 o Zrow ;531353@16 Rlagwlatle b) 1983
iil) KT WIS c) 2009
iV) Qe SrEgE B DEES d) 2000
1 i—a, ii—b, 1i—c, 1v—d
2.4 1i—b, 11—a, um-d iv-c
3. i—c, ii—d, 1i—a, 1v->b
4. 1i—d, 1i—c, umi—-b, iv-a

Options :

1. %1

2.9 2

3.%3

4. % 4
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ESCAP conference organized by united Nations for this
purpose

L Persons with disabilities i Australia
2. Persons with disabilities in Africa and Pacific areas
3. Enhance the standards of life. to obtain rights, forming

required strategies for persons with disabilities in Asia,
Pacific region

4. Africa to be developed economically

0Egoresy VWA A0S ESCAP 9:553%0 Book), &30

L eﬁ@acﬁréﬁa BI§ore FEDH
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(DSTET0 20HE, TeE) 0 PO, SIS Qrézfﬁea
d??éé@n);i

4. S|P3 @géom @@5&@ DoLerdd

Options :
1. %1
2. %2
3.¢¥3
4. % 4
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These are the traditional methods for orientation programmes
related to persons with hearing impairment

L. Street plays

2. Documentary films

3. Charts

4. News Papers

22005 Hoe0fon) GSATICS 5?55@;‘350@@55 32 JoREAD
?::gaﬁ:;m

1. HE srerseen

2. c‘?%}gﬁ:o@é D(@re

3. eI
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Options :
1.v1
2. %2
3.%3
4. % 4

Question Number : 98 Question Id : 3922661698 Question Type : MCQ Option Shuffling : No Display
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This precaution to be taken while using hearing aid

1 Hearmg aid to be placed in cool place
2 Not to remove battery from hearing aid
3 Hearing aid to be placed in hot place

4, Keep away from wet

[#363 DOSTY) EDBrRoSEoS” SWE 50D e
1. 308 P0¥0S” (#5e $050°)) eomd.
o
2. JY)E> ([#3e HBET0 D& egead BALEED.
3. |¥Se D050 I&m eotS e soTd.

4. &G SROD0F & S5°0Td.

Options :
1. %1
2. %2
3.%3
4. v 4
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Children with hearing impairment can hear sounds with the
help of this m auditory traming

L. Residual energy

2. Speech training

;. ) Speech therapy

4. Residual hearing energy

#5es Bges 39 VG &0 Ko Irges B
DI BTA0E r‘o‘agm DOETL.

1. A0 P B

2. 55 856

3. 55 D8

4. DAE ;éj@ (#3583 95

Options :
1. %1
2. %2
3.%3
4. v 4
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Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



This nstitute was established for research, training in speech
and hearing at national level

l. National Council of Educational Research and Training

2. National Institute for Mentally Handicapped

(4

All India Institute for speech and Hearing

4, National Institute for the orthopedically handicapped
A0 - |¥58) oS oS8 35, $8FPSe FUWH
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Options :

1. %1

2. %2

3.¥3

4. % 4

Section 5

Section Id : 39226663
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Section type : Online
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Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 20
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Sub-Section Id : 39226663
Question Shuffling Allowed : Yes
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Correct Marks : 0.5 Wrong Marks : 0



Which of the following is the product of four different prime
numbers

felw aé’.}g:ﬁ Eéc::a}ée.)és TN E.Dé');‘::s’& (DS ?:'}oaaée.:r WO
@'Uo“jme:.)\:i ‘;éoa:né

L. 84
2 770
3 135
4. 1287

Options :

1. %1

2.2

3.%3

4. % 4

Question Number : 102 Question Id : 3922661702 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Where will the hand of a clock stop if it starts at 2 and makes

2 . . ,
— of a revolution. clock wise?

KESTT0S” Kowo Sne) 2 5¢ (FToeR DIBFS”
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L 8
2 7
3 11
4. 9

Options :

1. %1

2. %2

3.¥3
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Question Number : 103 Question Id : 3922661703 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In A4BC 1t1s given that DE// BC and ar(&@E}=%ar(&4BC)

then find Q
DB

1
AABCS® DE// BC $3805» (AADE) 35040 == (A4BC)

JTOLO B9 Jo 20 A0 DS EHDAI0S0.
e A DB

L AL
B -}
5. ME-L

2

fad
ey
|
[a—

4 1
J2-1
Options :
1. %1
2. %2
3.%3
4. ¥ 4
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If you have a spinning wheel with 4 Red sectors, 5 vellow
sectors and 2 Green sectors. What 1s the probability of getting
a non Green sector?

2. BOR S|ES S0t 4 IDHY, 5 DY SO 2 eHD)
S0k W éﬁ&&am&@ Soew w%&?&iﬁgéom 520 SO

e o oo £ [N
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11
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Options :
1. %1
2. %2
3.¥3
4. % 4
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If Cosec@+ Cot 8= 2then find the vale of Cos#
CosecO+ Cot =208 Cos eSS ER D50

W | =

(sl

| = tn ] w

= | w2

Options :
1. %1
2.2
3.%3
4. % 4

Question Number : 106 Question Id : 3922661706 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If a <0 and b >0 then the point (- a, — b) lies in which
Quadrant

a< 050835 b >0 @ondB (- a, — b) DotHY Ho&k F&=w

L.
2. Q
3 Qs
4. Q

Options :

1. %1

2. %2

3.%3

4.9 4



Question Number : 107 Question Id : 3922661707 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A well of diameter 42m 1s dug 24m deep. The earth taken out
of it has been spread evenly all around it in the shape of a
circular ring of width 21m to form an embankment. Find the
height of the embankment? (in m.)

4220, TGO, 240, §'E SOAS 2.5 eI (FHP 5D
DG 21D. Igen) IS 2.5 SHTSY So8snr BB T
Boo¥),. Iy (2. o)

1 8
2. 18
3. 28
4. 38

Options :

1.¥1

2. %2

3.%3

4. % 4
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A steel wire when bent in the form of a square, encloses an
area of 121 sq.cm. The same wire 1s then bent in the form of a
circle, then the area of the circle is? (in cm?)

SR SEOIT S0Ber&S 2.8 Qe dX 121 $0.2.
ST gNBEDOVIH. $T SR Do SFes von
S0DB 98 es(EAoI 33050 (3.20.5. 8%

1. 111
2. 184
3. 154
4. 259

Options :

1. %1

2. %2

3.¥3

4. % 4
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Question Number : Yes
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A company sells biscuits. For packing purpose they
are using cuboidal boxes: box A —3cmx20cmx8cm.,

box B = 4cmx12cmx10cm . What size of the box will be
economical for the company?

1. Box A
A Box B

Bothe are same
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Options :
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Which term of the G.P +/3.3.34/3......15 729?
V33,33 on(EE ST NS DEX0 729 0908

L. 14
2 10
3 15
4, 12

Options :

1. %1

2. %2

3.%3

4.9 4

Question Number : 111 Question Id : 3922661711 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

You have two sticks measuring 42cm and 27cm No. of
different triangles with integer side lengths that you can
construct with third stick

D S 42 0.0, o8C50 27 0.0, FEHO Ko Do
S@m %a'aciﬁoméaom;’m. ?."g_rgﬁnoaaé eeso STodsime @ol:‘:i:;:::-’é:;%
SrES SESE A ) (@eHEres0 TS50

L 41
2. 51
3 33
4. 61

Options :

1. %1

2. %2

3.¥3

4. % 4



Question Number : 112 Question Id : 3922661712 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The age of boy’s grandfather before 4 years was 3 more than 7
times the age of boy. If his present age is 70 years, then the
present age of the boy (1n years) 1s

4 ﬁoéeﬁdm@ B0 2.5 erend od o écii:;‘;::a:;nj 2T
écﬁ.‘;mﬁ) @JJEEJ_ Z 3%31 55’3 3 .;‘15%_5. ared 70 @'}”&__‘éé Sciij”éjn)
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4, 21

Options :
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3.¢3

4. % 4
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108 fanA = 15 thei fnid fhie valie of <254+ i

Sin A—Cos A
8 tan A = 15 903 el e NENII ESoR°S0E.
Sin A—=Cos A
23
1. —
7
2 =
|
A 17
3. —
23
S
£ =
|
Options :
1.¥ 1
2. %2
3. %3
4. % 4
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For the following distributions the Model Class i1s

Wi Less Less Less Less Less
than 10 | than 20 | than 30 | than 40 | than 50
No. of
3 55
Students s L jU 4B
808 BFT0FINIK erTOTE STRD
wmbm 10 Eaﬂa 20 Eaﬂa 30 Eaa 40 E;TQ 50 Eaa
@g:;b_b @55&&_5 @55&&_5 @ﬁg:;b_é @5%&&_5
3:5"5&3&:
i 6 16 30 48 55
D 0S
b 20 - 30
2. 30 - 40
3. 40 - 50
4. 50 - 60
Options :
1. %
2.9 2
3. % 3
4. % 4

Question Number : 115 Question Id : 3922661715 Question Type : MCQ Option Shuffling : No Display

Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0




Pallavi plants 10 saplings in a row. in her garden, the distance
between two adjacent saplings is% m. Find the distance
between the first and last saplings? (111 m.)

20D &5 S0 28 SHIS” 10 IvE), 0 TSR, (3E), (B8
&) Tokd Ik o K¢y Ervo %ﬁb 00D J0Ed 08w
D58 Ko DS Srod) S5 508, (3. 0

. 8
1
2 7=
2
S
5
4. 10
Options :
1. %1
2.92
3.%3
4. % 4
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If the difference of each of interior angle and each exterior
angle of a regular polygon 1s a right angle then the name of the
polygon 1s

1 Pentagon
2. Hexagon
3 Octagon

4, Decagon

2.5 (550 2250ge CI“':JJEBJ_ a%’“bgzj e90e8 5083 a%’”b_éb_

e oo BES0 28 0025878350 @900 €3 23T o

1. 20wighe?
2. ?In.c“‘é:;ebﬁ
3. Eﬂjge;bzé
4, C3Eeoe3

Options :

1. %1

2. %2

3.¥3

4. % 4

Question Number : 117 Question Id : 3922661717 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

How many lines of symmetries in a regular Hexagon?

2,8 (S50 28" FPTTro Sovg

5 4
2 :
3 7
4. 6

Options :



1. %1
2. %2
3. %3
4.¥ 4

Question Number : 118 Question Id : 3922661718 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

1.3x 107" km is the standard form of which of the following.

13x1078.20. &30 ($08 78S B Bk, (Fureds
ETPH 50

1. 0.00000013
2. 0.000000013
3 0.0000000013
4, 13000000
Options :
1.v¥1
2. %2
3.%3
4. % 4

Question Number : 119 Question Id : 3922661719 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The mean of 10 observations i1s 42 and the mean of
20 observation 1s 63 then find the mean of all 30 observations

10 H83o5r07 DKen 42 538050 20 $83ezr0ae DK 63
@S 3080 30 HOBOT0TO DKENI BAS0E.

L 105
2 33
3. 56
4. 53

Options :



1. %1
2. %2
3.¢3
4. % 4

Question Number : 120 Question Id : 3922661720 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A group of 20 members can complete a work in 30 days. After
15 days of work another 40 members joined in that group. In
how many days the remaining work can complete?

1. 10 days
2 5 days
3. 8 days

4. 20 days

20 5o08 Dghyen Ko HIETE 2.8 3I 30 Sered’
TR IR0, 15 5ere DA SoS & HTTENS’
508" 40 508 F8B WADS I ) e’ JYHD

1. 10 &%ezen

2. 5 Sfexen
3. 8 &%exen
4. 20 &fexen
Options :

1. % 1

2.2

3. %3

4. % 4
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The first proof of the theorem that “A Circle 1s bisected by its
diameter” was given by

L.
2

Lad

4.

Thales
Archimedes
Euclid

Pythagoras

2.8 59)@_5;@ o Jﬂééoé B0 DSIS 2TIeON® 22052385085
&3 DETOBOSH Icied JTDe FA)S KASDY

I
2.
3.
4.

Options :
1.v¥1
2. %2
3.%3
4. % 4
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Question Number : 122 Question Id : 3922661722 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following is a factor of 8x° + y* + 272" —18xyz

Sod ST 8x* + y* +272° —18xz DT, &5 STETO5I0

L.
2.

-

X

4.

Options :
1. %1

2x% + }-‘2 +3z% - XV—YZ—X2
2x 4+ Y 432" = 2xy=3yz - 6xz
45 + }-‘2 +9z2 + 2xy4+3yz+ 6xz

45" + Y +92° = 2xp—3yz — 6xz



2. %)
3. %3
4. ¢ 4

Question Number : 123 Question Id : 3922661723 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A letter 1s chosen at a random from the letters of the word
‘MATHEMATICS’. The probability that the letter chosen is a
consonant 1s

‘MATHEMATICS’ 93 5850 25008 a8 Eﬂgiﬁo oﬁrc‘.ﬁgﬁbéom
Jﬁaé’eméo&. TN BET0 @ogw;’l@s@ e e::rc'fbé
ﬁow&ﬁéeﬁ
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11
A
11
A 7
. e
11
6
4. =
11
Options :
1. %1
2. %2
3.¥3
4. % 4
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The slope of the line passing through the points
A CosO°,tan45° and B log}.log, is

A CosO°,tan45° 35805 B logl.log]
DoHH HoT PEH JTIVP e
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Options :
1. %1
2.92
3.%3
4. % 4

Question Number : 125 Question Id : 3922661725 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The digit 1n the place of ‘A’ in the number 7A84932 so that
the number formed is divisible by 11

7 A84932 &3 K}oa:aé 113 iﬁ%ﬁ.&om eTPROT GO0 ‘A’ 5;50@3‘9
EOLEISONS ©OS

1 2
2 9
3. i
4, 8
Options :

1. %1
2. %2



3% 3
4.9 4

Question Number : 126 Question Id : 3922661726 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The property used to Calculate ; X 3 +% X — 2 1S

1 Closure property
2. Distributive property

Associative Property

: s
x;+5x—gﬁm5&55 ESBAOSD GBI

1. :{3059}@59 c‘,%&o

3

4. Identity property
L

2

2; eI aﬂédjao
3. pCYerIntef c‘,ﬁﬁ&o
4. eﬁeﬁﬁ);’n qﬁcf&o

Options :
1. %1
2.¥2
3.%3
4. % 4
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Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Suppose you are shooting an arrow from the top of a building
at height of 6m to a target on the ground at an angle of
depression of 60°. What 1s the distance between you and the
object to find the solution of the problem which trigonometric
ratio you can use

l. Sine

2. Cosine

3. Tangent

4. Cotangent

6> B Ko 2.5 550 P $00d g $o¥) &f oF ) 60°

Qﬁa?moés 2T°E3065" 3@@&@5}5&@@. 5 S0 550 Jod
53808 &0e00d? Ss SN, JE5S° DY £3&>R0BD
BT I 987

L. 9

2. 5

3.  ¢roBmoed
4. SeroBosS

Options :
1.v1
2. %2
3.%3
4. % 4

Question Number : 128 Question Id : 3922661728 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



A cylinder and a cone are of same base radius and height are
given then which of the following statements are true?

1. Volume of the cylinder = Volume of the cone
2 Volume of the cylinder = 3x volume of the cone

-

Surface area of the cylinder = Surface area of the cone

4. Surface area of the cylinder = 2 x surface area of the
cone

2,8 i ;Uéﬁﬂg;’m DO I FOT a8
oI a:ts‘sz:rﬁﬁij oI (508 FAS° &

95) 208ad5)
o9 mwééw

gl Er%i

& K}gﬁ.’:;’m D ID0LSTTEI0 = FORY) P8I0
2 :i}:;;;’n;’m DI0055°e30 = 3X FOBIY) DIDHBI°e20
3. ”ﬁg‘;ﬁ;’m &o0S© Eaﬁe:réo = FoY eNdsw é@@éo

4. ”ﬁg‘;ﬁ;’m &S0 g%ﬁe:réo = 2X ¥0%0%)) ed8de é@@é@

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 129 Question Id : 3922661729 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Find the least number which must be added to 1825 so as to
get a perfect square

1825 2.5 ?b&?.’.’grg 5§ ‘a‘boa:5 NS ErESONS EEUQ ;’boa::é

. 6l
2. 62
3. 65
4. 24

Options :



1. %1
2. %2
3. %3
4.4 4

Question Number : 130 Question Id : 3922661730 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Rs. 7500 1s borrowed at 5% rate of interest per annum then the
amount to be paid at the end of 3 years 1s (in Rs.)

S0SSYTAS . 7500, 5% 5%6&1}@* 630 D058 08.
TS éoéeﬁgéo ASES° 5&2@@@35 080 (5. &)

3 8625
24l 9500
5 8525
4. 8000

Options :

1.v¥1

2. %2

3.%3

4. % 4

Question Number : 131 Question Id : 3922661731 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The sum of the digits of a two digit number 1s 9. If 27, 1s
added to 1t the digits of the number get reversed. The first

number is

2.5 Dod&kose ;":,oa::éeﬁﬁi) ©OS® I0B0 9. es R'}Dal§§3 27
Kendne Ség :—60335 R025¢3 ‘;éogpéé:; alobINuLlob) éoepé 900053
23 Jo0cied K}oa:é

I £2
2. 23
3 63
4. 36

Options :

1. %1

2. %2

3.%3

4.9 4

Question Number : 132 Question Id : 3922661732 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The value of ¢—5 if V3- 1=a+bJ§
\/1‘:-1-1
43 =1

i 1=a+b\/§@w$ a—bJens
+

L 1
2z 3
3. 5
4. 4
Options :
1. %1

2.2

3. %3
4. % 4



Question Number : 133 Question Id : 3922661733 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A teacher wants to identify the most common errors (or)
misunderstandings of his students in frigonometry by
analyzing the students responses on quizzes (or) test. Which of
the following measures of central tendencies 1s useful to him

1 Mean
2. Median
3. Mode
4, Range

2.5 EFETIENE @D T'E0DS BF WA Jok S
AT )5 WO EJpoD ©9Z0 5%V JAATOD &8
éﬁg(@@) 0% yo° @mm?m@mﬁaﬂac‘é&. 53 éoiﬁ%aéﬁ
958 ENDIKNE §o@5%;ﬁ@ §oes

: @9553&5532&33
2. mqiéﬁe:sm:

3. AR EVERISINGY

4. 5‘35;:19
Options :
1. %1
2. %2
3.¢3
4. % 4

Question Number : 134 Question Id : 3922661734 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



By selling two televisions at Rs. 50000 each a merchant got
20% profit on one television and 20 % loss on another one,
then find the percentage of profit or loss in this whole
transaction

1 No profit, No loss

2. 4% loss

;| 4% profit

4. 10% profit

Vo 302350 2.8°,.5).8 &. 50000 DTAPS WY &8
TEERSH &8 TIP 20% rF50 508050 6 IR

20% S50 IB)W. B3 InFo >BIS &8 FEFTRSDH
5&35 ergs (So) SR TS0

1. ergio B, SO BeH
. 4% ﬁfggo
3 4% ergio

4. 10% ergjo
Options :
1. %1
2.2
3.%3
4. % 4

Question Number : 135 Question Id : 3922661735 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



If the points (1, x), (5, 2) and (9, 5) are collinear then the value
of x 1s

(1, x), (5, 2) 3985 (9, 5) DotHHen $SBPasTen
90T X DI

-1

1
!
3

(sl

T
3

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 136 Question Id : 3922661736 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

For the positive real numbers ‘a’ and ‘b” which of the
following 1s not true

W, DD $5 TS 00PgTS (308 A" Hesgn D
L. Nab=vaxb
a_~a
2 et
(n+-JE:)(a—JE_)):n2—E}
4. (J;+J3)(J;—Jg):a+b

Options :
1. %1

(sl

2. %2



3% 3
4.9 4

Question Number : 137 Question Id : 3922661737 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In a city of 5,00,000 population 30% are females, 40% are
males and remaining are children then the population of
children in that city 1s

5,00,000 z=°er Ko 2.5 SKS0S° 30% S5008 Sorven, 40%
008 PO LADS F°H E’a%:jw ©OVS €3 SKEoSD

=]
OO BIGT

1. 15000
i 150000
3 20000
4, 200000

Options :

1. %1

2.2

3.%3

4. % 4

Question Number : 138 Question Id : 3922661738 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The radius of the circle 1s Scm and distance of the chord from

the centre of the circle 1s 4cm then the length of chord 1s (in
cm)

5 20.. F4Fgo Ko HBo Ty, SolEo Mok & &gl
ADS ©023:50 &I 4 0.20. oS es &y PED.

1 3
2. 4
3. 6
4. 8
Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 139 Question Id : 3922661739 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A and B are disjoint sets, n(A)=15,n(B)=7 thenn (A—-B) =
A, B e Jdd50E Sdoefoen n(A)=15508c0 n(B)=7
®ond n(A-B)=

L. 8
. 22
3 7
4. 1

Options :
1. %1
2. %2
3.%3
4.9 4

5

Question Number : 140 Question Id : 3922661740 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes



Correct Marks : 0.5 Wrong Marks : 0

There are 10 mangoes in each box and the total number of
boxes are b then the total number of mangoes 1n all boxes 1s

2.8 .8, DBS” 10 SDE 50y &m0, 50050 Ivso
B ;‘30335 b ®onS Ivdo I ?.‘E:Oc;% “éoa}é

L. 10+Db
2. 10 x b
3 b—-10
4. 10—b
Options :
1. %1
2.9 2
3.%3
4. % 4
Section 6
Section Id : 39226664
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 10
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 39226664
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 3922661741 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Example for deductive thinking 1s
1. Generalize total of » odd natural numbers is n’

2. Finding of curved surface area of cone by using
perimeter = 277, Area of rectangle = /b

Think of correlation between mathematics with other
subjects.

(a2

4. Finding of needle in grass heap
DK IS 2.8 &8s

1 n Bd Sores ﬁoa:ge: o 7' & SR EB035500

2. 5BIBY =277, BB JTegsn = bosd
ERXTA0Y DTDO J(EBO JTOIn SDHA'E.

3.  KASS0IDH A8y beﬁegzjt:lots:oe:esﬁ &0
DTTN02I0TPON) D00

4. ﬁ%méﬁwéﬁ 3000 5SS

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 142 Question Id : 3922661742 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The Indian mathematician who explained approximate
value of 71s 3.1416.

1 Bhaskaracharya - II
2. Srinivasa Ramanujan
3. Aryabhatta

4. Hepatia

TS WSS 3.1416 @2 BOOHTHS erEHAD
KIS (33

1. wébmaﬁﬁé - 1
2. B0 oosrons
3. 8:5552;5%33

4.  >8oSr

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 143 Question Id : 3922661743 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



“Student questions his own achievements™ i1s specification of
this objective.

l. Scientific attitude, Reasoning
2. Positive attitude

-

3. Interest

4, Appreciation

“ITGQ S5 PETOD & (HFOHEIEC” I B)x80e
EINVIVATA I

1 %ﬂ@’lcib P8, oS CSJE;JGSD

£, @;‘ﬁ}g?@éaﬁ

3 hvSTetc]

4. (D¥OIJADE

Options :
1.v1
2. %2
3.%3
4. % 4

Question Number : 144 Question Id : 3922661744 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



“The school Master’s Assistant” book written by
1L, E.J. Morgan
2 Hall Quest

-

3. Romington
4. Thomas. Dil. Worth
“5 2076 SH0) APOL” PR TSawes

L 3.B. 30D

9 ﬁg%g
3. (':':'Ef.bogg

4. R &S 56

Options :
1. %1
2. %2
3.%3
4. v 4

Question Number : 145 Question Id : 3922661745 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Match the following

1. Writing difficulties a. Dyscalculia
i1, Reading difficulties b. Dysgraphia
11.  Mathematical Difficulties é. Dyslexia
23808500
1. O A50808" 35050 a. &S5 HAT
il SE55008° 3¥ero b. &Srdase
iii. Ae3SSnS” Fsego c.  &JBYoEr
1 i—a, ii—b,ui—c
2. i—b,i1—c,111—a
3. i—c,ii—a, ui—b
4. i—a, ii—c,1ui—b

Options :

1. %1

2.92

3.%3

4. % 4

Question Number : 146 Question Id : 3922661746 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Correct order from know to unknown in Edgar Del cone of
experience

1. Exhibits — Motion pictures — Created experiences
2 Verbal indicators — Field trips — Dramatisation

3. Radio — Visual indicators — Verbal indicators

4. Radio — Motion pictures — Visual idicators

IEES 050255 FopIS” (DSEID $00& HEEID FYSH
JOBIS (E3050

1. @’ac‘:jﬁgﬁm - JOJIJ(@w > 5@3@@2&3259&1}

2. O VoS —> é@;ﬁﬁﬁé&ﬁm o >oisse
& a

3. BET> — 53““‘5 Dosarey — aﬂgg DosS@Eeen

4. TEEr - TS oren —» cﬁﬁg‘;@o?@ﬁeu
Options :
1. ¥ 1
2. %2
3.9 3
4. % 4

Question Number : 147 Question Id : 3922661747 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



“Based on the Four steps of learning experiences Learner can
acquire four different competencies™ stated by

il Colb

2. Nowack

3. Asubel

4, Jean Piaget

JreN) ST &?@ e9:3028955 e3P @2;55‘5::1;5@ esPUon"
e::raré‘;}.t;;i}é NI 3.)2',’}@ %ﬁm%‘ﬂém D008 (DETSS0LR0S
E:Je;jé‘éﬁ;’m Ddﬁ)&é}eﬁooc‘.ﬁ DS80S .

1. ?‘5@3
3. S
3. 9BO

4. 25 HairR

Options :
1.v1
2. %2
3.%3
4. % 4

Question Number : 148 Question Id : 3922661748 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



This 1s useful to make students to understand concepts
perfectly which are formal in teaching learning process

L. Maths Olympiad

2. Maths Library

3. Maths Forum

4. Maths Laboratory

5°GS @gOS (AN, INES rSSen IR Bsor
&0%erId SEYED

1. Ke3e5 2.@oDasrE

2. Kedd (HoGgrodio

S5 Kedds Doo

4. Ke3S (DEBH T~

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 149 Question Id : 3922661749 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The mmportant topic that should incorporate in the December
month activities of Mathematics year plan

1 National Maths day celebrations

2.4 International Maths day

3. x - day celebrations

4. Formation of Maths club

K3 QY DG5S E02b 08 AKIroTdys

SEESroS S50 DB SEE SRS IA0
L 2D Ke3S S EYS Seosen

2, Eﬂo@%@cﬁo Kedes &5‘3@35;@:

3. T - &35‘3@“}5 Io%Hen

4. K3 55 dovyew

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 150 Question Id : 3922661750 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Class 10™ student should have the pre concept of polynomials
1S

1 General form of polynomial

y.§ Concept of polynomial

3. Value of polynomuial

4. Degree of polynomial
105 SEKD T0HELD B0 T HOWSHPE PSS

22T0IE ;T ed S50
2. 23RO I3
3. 230 8 cf'mﬁb_ VI

4. 230NV D80

Options :
1. %1
2.92
3.%3
4. % 4

Question Number : 151 Question Id : 3922661751 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



One of the following 1s not taken consideration while making
comprehensive weightage table in preparation of summative
assessment question paper

1. Academic standards weightage
2. Unit weightage

3. Question wise weightage

4. Competency wise weightage

DONreTed &5 me.:rbéoézﬁ @3@;‘5@0 S35rES° Qad &Fﬁeﬁj
DS S0irtd Baineod” H8KeNS"S DS WL WoFw

g 8 3@5@:;’)?5?@ S8 wdeﬁﬁm
2, G0 8 AUCTNAE

3. B¥Ho 580 > wﬁeﬁjgﬁw

4. %“53%“5@ 8 2,?5@_“3;’):0

Options :
1. %1
2. %2
3.%3
4. v 4

Question Number : 152 Question Id : 3922661752 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Multiple choice questions are

i Identify answers by guessing
2 Not useful to understand mathematical concepts

(2

Against to the concept of step wise answering

4, Tests the process imbibed in the solution

mmgﬁgé @’:@E}J

L. E582°00) BTPEVW KIYOTWEN &EOLITON.

2. KRS ZPIS0 WIS DBOYSE &HANE0 57

3. FPIS0 TOM IS0 L0SOD TPSIE 38 E.Jr:bgo
4. >EIS W& ) D3 om.

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 153 Question Id : 3922661753 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The record that preserved m a formal way with learning
evidences of students

i Anecdotal record
2. Reflections record
3. Portfolio

4. Cumulative record

(Y ARSI $0w0B0NS BT O VEBOD SAS 5OS°
HESHESDES 85°8

1. D0P0&S 555

2, @’n@ﬁo}ocﬁﬁ GTCE%

3. FPLHFOSrw

4. 5355;;6&55 GRled

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 154 Question Id : 3922661754 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Important tool i practicing Teaching skills

L. Introduce different specific activities
2 Technical skills

3 At what extent learning takes place
4. Micro teaching

SGT JYETEO® FES BaHEoS S0PERoS roSBEI
1. ;'.J@;a @35_@55 1565@::1:; DOEAH0 DAHEO
2. JOSDY SVETg
3. ST JOSSEE 28R00 &9 0¥
4. wg&esﬁcszs
Options :
1. %1
2. %2

3% 3
4.9 4

Question Number : 155 Question Id : 3922661755 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the correct statement

L.

(sl

Provide equal opportunities by providing applicable
activities to children with special need, various learning
levels

Design strategies in maths curriculum based on learning
levels

Do not change assessment process based on the needs
of learners

The existing curriculum provides space for developing
core competencies in special need children

808 F°AS° D@

;

Options :
1.¥1
2. %2
3.%3
4. % 4

@:@55 wéﬁmm@md&, EJ?’,’)K:;E @2;5555 %;owen
IR %K(EQ 80888 35S wSseEeD E@Jodwﬁé
e3:58 8368 P 53@5@50 L‘Jdnjcfaﬁéﬁ).

Ke3S DT ReTPSS” Bigds Fove w8 Jrgteo
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Question Number : 156 Question Id : 3922661756 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Collaborate strategic Reading 1s helpful to practice
1. Alzebra

2. Word problem

3. Geometry

4, Patterns

ST JrgIs )8 D80 8 FEIH STEHED

1 35232
2. ﬁc‘ﬁﬁ&ﬁ)ﬁg@i
3. 83'“’33@5

4. S eATCTTEN)

Options :
1. %1
2.92
3.%3
4. % 4

Question Number : 157 Question Id : 3922661757 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The application of abstract concepts are introduced in the
following stage

1. Primary stage

2. Upper primary stage
3 Preprimary stage

4. High secondary stage

OSY GPSION ESTTAODE SE0 J0YSH

1. @*c‘;ﬁbé@;m&

2. @ﬁcﬁib?aaeﬁ @;m&
“ 2 s
3. @_PC‘S (PP EDE ngw
4. ﬂ%ﬁ&@ﬁ ETO T
3
Options :
1. %1
2.V
3. % 3
4.% 4

Question Number : 158 Question Id : 3922661758 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The activity useful to enhance mathematical skill

L. Math cross word puzzles
2. Gardening skills

B Essay writing

4. Drawing skills

33%}1633 KRAS0S® TFred IWHHISSE IS &XRTRIEO
1 Kedes DS

2.  SegYergen

3. Jﬂé‘;@diﬁu
4. DSBS

Options :
1.v¥1
2. %2
3.%3
4. % 4

Question Number : 159 Question Id : 3922661759 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The drill work used in Mathematics for Hearing Impaired,
general children 1s based on the principle proposed Throndike
1S

[Law of readiness

1
2. Law of effect

[aw of motivation

(a2

4. Law of exercise

28& §%0 Ko 3:%)?@5‘}3, rdmilelar) 3:%:;@53 Ke3e508°
EDEPROT BITS B THES PET RIS B PGP
eSPURE &0,

1 R‘ioﬁag@ OS50

2. 28 JaXvo
3. (288 Ao
4. Eﬂ?,]"’éﬁ levbiIntle!

Options :

1. ¥ 1

2. %2

3.%3

4.9 4

Question Number : 160 Question Id : 3922661760 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The device used to teach place value 1s

1. Geo board
2. Abacus
3. Scale
4. Dice
TS JWIOH FHOIEIS &DEPKIE OPFHT PSR
1. P JossA Mot
2. P00 (E0
3 f&bﬁ:}a
4 DY
Options :
1. % 1
2.¥2
3, %3

4. % 4



